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1A - Section  consists  of
: ‘j’fj;fj;s:xteen ~ multiple choice
- questions from Question Nos. 1

to 16, each of 1 mark.

Section '‘B': This Section contains ten

questions from Question Nos.
17 to 26, each of 2 marks.

Section 'C': This Section contains five
questions from Question Nos.
27 to 31, each of 4 marks.

Section 'D': This Section contains four
questions f[rom Question Nos.
32 to 35, each of 6 marks.
(iii) Section 'D’' contains one question in which
internal alternative choices are given. You
have to attempt one alternative.
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SECTION - A

(C) n* 3z (D) 7 § #E T

A set contain n elements, then power sct |
contains :

(A)  nelements (B) 2" elements
(C) n?‘cl(‘.nwnts (D) None of these

2. WF AR A=(1,2,3,B-3,4, C=4,5 6 a
An(BUQ} o 1
(A) 13 & @ LR
(€) {1,2,5,6 D) o)
Let A =1{l, 2,3}, B=13, 4}, C=y, 5, 6 then
An(Bu Q)is:
(A) (3] (B) {1, 2, 3, 4
(C) {1.2,5,0 (D) (o)

3. we @B () Vx @ gl = TN e
demat & fau (fa)a B

Ay x' (B) x";’
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Let f(x)=vJx and gx) = x he two functions
defined over the set cM mn ncgatxvc real
numbem ‘Lhcn (fg)xus MR
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(A)  (-=, 2) (B) (2, =)
Ky 12, =) (D) (=, 2]
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¢ 3x-2) 52 -x)

then the solution for x is -

5 N
(A) (o0, 2) (B) (2, =)
€) 12,» (D) (-, 2]

ALLAHABAD' :«zm m“ & @A
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(A) 9!
c;u ‘

©) 41 2‘

The :numl;m:;t
word 'ALLAF

& 9
, 9
€
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(A) 10 (B) 8di

() 14 R D) 124

Whic‘h term of the sequence V3, 3 33
............ is 729 ?

(A) 10th (B) 8th

(C) 14th (D) 12th




10.

11.

(A) (4,5)
€ 5,4

The centre of th |
IS : \ i
. “.“,“11““ \‘1‘1“ ‘\“‘].‘:‘:‘;‘ ‘ m“:;::‘ ‘ ‘

(A) (4,9 LT L it ‘m““ ﬂ‘*“"‘“ ~9)

(€) (5, 4) G o (*5 -4

T+8x+10y-8=0

(A) 0O (B) 4
A | (D) oftfer d ¥

Fv T,‘ .
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2
Iim x“ -4
x-2 x3 _4x2 | 4

1S :

Mo (B) 4
© B (D) not defined

x—0S8Iin2x

/|
A

C) O

. sindx .
lim — is *
x»0S8In2x

1
A) —
(A) 5
(C) 0 (D) not deﬁncd

13. sin' x & 9% © .

(A) nsin” ' x

(B) ncos" ' x

ST
e o .

(C) nsin" ‘xcosx

(D) ~ncos" ' xsinx
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The derivative of sin" x is :

(A) n :Sin" ~1 X

fi l\ el ‘;‘:

(B) ", ‘\an““

A€ ﬂ %m"“‘"‘*“ x“cm

B) sin?x+cos?x

- sin Qx

15.

(B) mmmm
(©) Pt T A o e () dar @ ol
(D) el Brgr & ey afer: BN A QTR 180° 8 ¥
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Which  of the following sentences is =
statement ?

(A) Answer the question.

(B) Today is W'indy day.

(C) The mdes of a quadmlatcral have equal sides.

(D) The surﬂ T;Ihmenor angles of a triangle is
180°,

Pa)=2 d pB)=L B T b AR A oo

Y AT g ¥, @ PA T B) R 1
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(}ivcn' P(A) = 3 and P(B) = 5 . Find RAA or B), if A

and Bare muluully exclusive events :

3 B) 2

A 25 5
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SECTION - B

7.aﬁu=‘ 23456789'A={2,4,6,8},
=12, 3,5, 7), @ gafg Fiftw & 2
(AUB)=A'nB

MU=1,2234,567809,4~1{46,8}

| numbcr less thdn
domain and mx%e_ﬁ L

ld. Fer m S 4 " | 2

cos 7. M 4o cm 5x
SN 7x sin 5x

- COl at‘

Prove that :

cos7x + cosdx 4
; ; = ColL X
sin7x - 8iNdx
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20, fha difwyo . 2

sin3x = 3sinx -4 siin"‘3 X

Prove that :

sin W M‘M Mm’

21. iy e { il o+ ib & & g e

22.

. ) ]QW + 6) = Sy - 2) 4 {ﬁ ol

2

Find the distance of the point (-1

| » 1) from t;hc.
line 12(x + 6) = Sly - 2). .

43
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24, ;:ﬁsqﬁsp(h,a 5), Q(1, 2, 3,) 3T R(7, 0, -1) €@
, 2

Show that the points P-2, 3, 5), Q(1, 2, 3,) and
R(7, 0, -1) are collinear.

. ~ 2 '2 —_ &
25. Llrnl f(X) BIG ']5”3”\, el f(t) = [ X ) 1 e ’ 2
b .._) - -

[ 2 -1 xc<l
Find llm f(x), where f(x)= ) o
x—1 l’"-\'“ -1 x>1

26. @ T59 A Rl 3 owE A A A abed B o
affa & Ted w2 wihEd w2 R g gty §

(a) I3 I&9 7 B,
(b) TH Y59 Bl 7
A committee of two persons is selected from two

men and two women. What is the probability that
the committee will have :

(@) no man,

(b) one man ?

@8 -9
SECTION - C
27. gl n> 1 % fow fas Fifm [ 4
12422 4+3%4....4n%= a2 Lige + 1)
6 |
R P.T.O.
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30.

31.
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Forall n> 1, prove that

29.
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R(-4, 9, 6) ai

triangle.

g e A cos x 1 S S iy

Find the cjtz:l’i%ﬂtivc of cos x from first principle
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SECTION - D

The Locfﬁ(mm W hr b i
eXpansion (‘1 !m) ‘ “W
Find n. ‘ ‘

Find the cmmrc‘\l‘iwz:m‘iim of the foci and the vertices,
the eccentricity, the length of the latus rectum of
the hyperbola :

yz ~16x? =16
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34. AN Ru ararar dew & e wen, 5@ 7 9F e
ﬁﬁﬂﬂﬁ‘r{q: _ Lo .. 6

T1-9F | 0-10| 10-20

IRERA_ | 5 ‘;‘_ s

Calculate Lhu mmn dem:mm and standard
7 7du'1atmn ;ﬁl‘or Lhc I"ml owmg dl%‘l‘“ bu‘UOn
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